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QUESTION 1
When a VM is restarted on a new host during an HA event, how is the I/O data path impacted?
A. All data and 1/0 associated with the VM are migrated to the new host.

B. All write 1/0 occurs on the new host. When reading old data, the 1/O is served from the host the VM previously
resided on.

C. All I/O continues to be served from the host the VM previously resided on.

D. All write I/O occurs on the new host. When reading old data, the I/O may be forwarded by the local CVM to the
remote CVM.

Correct Answer: B

QUESTION 2

Which command should an administrator run from the CLI to view the uplink state of all AHV nodes in the cluster?
A. allssh show_uplinks

B. manage_ovs show_uplinks

C. allssh manage_ovs show_uplinks

D. manage ovs show uplinks

Correct Answer: C

QUESTION 3

Which three statements are true about Agent VMs? (Choose three.)
A. An Agent VM is automatically migrated to another host

B. Agent VMs are never migrated to another host

C. Agent VMs are powered on before other VMs

D. Agent VMs are powered off if an HA event occurs

E. A running Agent VM can be moved to another host

Correct Answer: CDE

QUESTION 4

An administrator has just executed a maintenance window for some applications running on their nutanix cluster. After
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completing the maintenance, they want to assess the health of the cluster and make sure that there is no impact during
the maintenance.

Which three dashboards in prism will assist the administrator in making this determination? (Choose Three)
A. Data Protection

B. Cluster Health

C. Tasks

D. Alerts

E. Analysis

Correct Answer: ABD

QUESTION 5

An administrator is deploying a SQL database that is licensed by the number of physical CPU cores available to the
application.

Which feature can be used to minimize licensing costs?
A. VM Anti-Affinity

B. Host Profiles

C. Virtual NUMA

D. Host Affinity

Correct Answer: D

QUESTION 6

Which two features require the Nutanix Guest Tools package is installed (Choose Two)
A. Self-Service Restore

B. Volume Snapshot Services

C. Network Visualization

D. Image service

E. Prism Central

Correct Answer: AB

QUESTION 7
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An administrator needs to relocate an AHV cluster to a new datacenter during a maintenance window. The cluster will
use the same IPs in the new datacenter. Which two steps should be taken to prepare for this task? (Choose two.)

A. Reconfigure IPMI for the new datacenter
B. Shut down all user VMs in the cluster

C. Relocate the linked LDAP server

D. Stop all Nutanix Files clusters

Correct Answer: CD

QUESTION 8

In which two scenarios is Nutanix Key Management Server supported?
A. XenServer and AHV mixed cluster

B. KVM and AHV mixed cluster

C. Data-at-Rest Encryption

D. Cluster\\'s local KMS.

Correct Answer:. AB

QUESTION 9

Which options are available when a live migration is performed on a VM in an AOS 5.5 implementation?
A. The VM can be moved on a different host

B. the VM can be moved to a different host and a different storage container

C. the VM can be moved to a different storage container

D. the VM can be moved to a different (remote) site

Correct Answer: A

QUESTION 10

An administrator wants to configure key based SSH access for an AOS 5.5 Implementation
Which three components can be secured using this method?

A. The cluster

B. the CVM
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C. The hypervisor host
D. Guest virtual machine
E. prism element

Correct Answer: ABC

QUESTION 11

A node with Erasure Coding fails.

What is the impact?

A. The node stops utilizing Erasure Coding.

B. Potentially increased amount of data stored in the SSD tier.

C. Increased Controller VM CPU Load.

D. AQS unable to do deduplication during the Erasure Coding failure.

Correct Answer: C

QUESTION 12

1.

20 sites with two-node clusters in Singapore

2.

20 sites with two-node clusters in Japan

3.

30 sites with two-node clusters in Australia

The HQ and main datacenter is based in Hong Kong.
What is the minimum number of Witness VMs the administrator should configure at the Hong Kong HQ datacenter?
Al

B.2

C.3

D.4

Correct Answer: B
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QUESTION 13
An administrator needs a deploy a Nutanix Cluster that hosts the following workloads

1)1000 persistent virtual Desktop VMs 2)100 Generic server VMs 3)5 Microsoft exchange server VMs 4)10 SQL server
VMs

Which container configuration should be deployed two maximize data efficiency?

A. 1 container with compression enabled and 1 container with deduplication

B. 2 containers with deduplications and erasure coding enabled

C. 2 containers with no data efficiency mechanisms enabled

D. 1 containers with compression enabled and 1 container with Erasure Coding enabled

Correct Answer: A

QUESTION 14

Which Nutanix cluster service manages VM access to the Distributed Storage Fabric?
A. Medusa

B. Stargate

C. Pithos

D. Acropolis

Correct Answer: B

QUESTION 15

What is the default level of Verbosity used when enabling Nutanix Pulse?
A. Nothing

B. Basis

C. Basis Coredump

D. Verbose

Correct Answer: C
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